EEEES R (EY{REEE)

BEAW PR ITEREW BERXS & i ik BEEE |wneg|smsk = B WMSEE = MiGMsE MEHNRHESE  HHEE
R R KBt 2— TSR 1TEREA 0 1 1.00]= TR2TEE 0 0 3,704,400
XENERREVS I EHRETSE FETCXER |[THEE 0 1 1.00|= TR21EE 0 0 4,752,000
HINERKBFESETIE(THTE) FREEF 1TEREA 0 1 1.00| = TR 27EE 0 0 12,662,000
FRPERRFESETE(IHTE) ERBER TR B4 0 1 1.00|= TR21EE 0 0 11,418,473
XE/NERBEREEIGARESETLS FREEF 1TIREA 0 1 1.00| = TR2TEE 4,536,000 0 4,536,000
B SATEUERRR (R R) To2)L1E HBER TR B4 0 0 1.00|= ERL28EFE 1,296,000 0 0
REEEL S —ETISE RIEEU L 2{1TEBE 0 0 1.00| = TR 284 8,100,000 0 0
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